Electricity- Unit exam review

Name

1. If an object is repelled by a negatively charged/sub ce, the object has/is
a) positive charge S
\JQ(QO ) neutral O PP OS'*C
WJ @egatwe charge C\*u

impossible to say what charge is on the ob]e

A =% 2. Which statement correctly describes an atom? ¢ 5 IV ICLX re P e \
electrons orbit around the protons and neutrons
h)

protons orbit around the electrons and neutrons " ﬂ € b\JfrCt\ O{++ YQC+
c) neutrons orbit around the protons and electrons ™ \/\ Qrged

d) electrons, neutrons and protons are mixed together

xoNd

Use the following information to answer questions 3 and 4.

Emile tries an experiment with a Van de Graaff generator (VDG). He stands on an
e‘.edﬂ(ﬁf S insulating platform, with one hand on the metal sphere of the VDG. The VDG is
turned on. A minute later, Emile reaches out to touch Leslie, another student

standing nearby. As Emile’s finger approaches Leslie, both students feel a sudden,
painful shock. e

ThlS was most likely due to
(a) his hair strands being attracted to the VDG
(b) his hair strands being repelled by the VDG

c) his hair strands being attracted to each other
@ is hair strands being repelled by each other
4. The painful shock felt by the students was most likely due to

=y . - . .
(a)) a static discharge from Emile to Leslie
a static discharge from Leslie to Emile

(c) astatic transfer of protons from Emile to Leslie Swl*d\a—-——*\"“"

(d) a static transfer of protons from Leslie to Emile

QMpretee ®

5. In the diagram to the right, which circuit symbol shows a TCS.\S\Q(———‘WM——-——
resistor? m
a)A d
b) B \ ame .5
C e i
)D |

e AL
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6. The amount of current flowing through a circuit is measured in:
a) volts
b) watts

@221”53 Cuscend (1 )

€) electrons F\ W\ P S

1 at type of meter measures only potential difference?
* oltmeter T e N
b) ammeter aa VO Hr e
c) galvanometer
d) multimeter
e) ohmmeter

8. Examine the following statements concerning the circuits shown to the

also have a potential difference of 9 volts.

Which of the following are true?

a) | only

@lu , IV only ||S!

c) I, Il only

d) None of them
e) All of them

e
right: 4
¥ |. Circuit A is a parallel circuit A
XII. Circuit B is a series circuit T <eqiC S
V]I1. Disconnecting one bulb in A will force all light bulbs to go dark e Sl
t/iV If the battery in B has a potential difference of 9 volts, all bulbs Pt o
M.‘.a/
B

——-——41§;~—

5 15 15 1.5
g' - +(Sm—-- i |~ +;J/“‘--— ~i—}}- .
A B

9. If each cell has a voltage of 1.5 volts, the voltage between A and B is
volts
a)1.5
b) 3.0
c) 4.5
6.0
e) 9.0
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10. When a fuse burns out in your home it means:
oo much current is flowing in the circuit
“b) not enough current is flowing in the circuit.
c) a power failure occurred
d) more than two loads have been connected to a circuit.
e) the fuse was incorrectly placed in the fuse box.

11. Christmas lights are wired so that if one bulb “dies”, the other bulbs will
remain lit. These lights are connected in
a) superposition
b) tandem
c) conjunction

d) series
@. arallel

WRITTEN:

1) Draw what an electromagnet looks like (lab in topic 6). Label the parts.

\ . X Ma ﬂ€+Z&i Tron
ST e — N
Mok -{\e’r'\Sf"g'A% '\
ole (aau@ad G-

\{O“Qe\edﬁ‘c‘el&e a Magnet bq’%r?‘

2) Draw an electrochemlcaI cell (a Wi cell) and label it's parts. Include words:
electrode, anode, cathode, electrolyte. & S ) ) .
\co electtons (8

afe. Mofe
present
ot the ande
(\/Jktd\ S (/J'\y
it hes o
e N & ative

Chor e) These
D
€ ore Now

 OHracted tothe
positive cathade and

Move there « ThisFlow

O‘FC iS e‘GC’*F)Ci'}Y

Coi| of conductin wire

e\ecrto l \/+
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3) Topic 5

Electrode- definition Electrolyte defi nltlon
2 dikferent 'l%ﬁ (wet Ceﬁ
Metols | or Pkste (dry cei)

C@%@de@
Spdt anode [-)

thod 1S Seldby of
gcscLCSOUL\/O

4) Looking at the types of energy in topic 4
and output energ

At

—

AN

(that we discussed), tell me the input

Iém !E “.- ns for each of these devices.

Chemial Batery > €lechtian)
}’Ed/\aﬂ lCa19 Generator > €1 @c‘['riCQ,i

l@C—}'r\C&\ —) Motor > Medf\ an FCCL ( N
"W\C‘—MO@\ > Thermocouple —) @I 6(‘;“(‘] CQJ

ec)m b ightbub > |3 3)/\4’

** Bonus: What type of energy is most of the input energy lost as in a lightbulb?

MoSt ener N

'S oSt oS head

5)T6pic1 %—MIHQ:L% S loo/. 6?—?:(‘,?8/\1"

Insulators- definition and examples

Conductors- definition and examples

Uoes not cullew

e to -ﬁow) of )
them.

ex) Tubler, 6] oSS

AllewsS €™ 4o flow
OoN +hem .

{Dq Mﬁjral/
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6) Water models that represent current, voltage, and resistance in electrical

currents. ” | | | ﬁ_ Q@M eML‘Ej’ iS

Muodels That Represent Cnrrent. Voltage, and + ﬂ
Resistance in Two Electrical Clreuts |3 _\,H g Cottoo
Tani@
Mode! 1 Modet 2 T‘?a“?é Tlow

e
=

\}f’ra 1<(Z(,cr'rexw-k

Y {}e’%‘_@ Hosw many
"H\e \ - ofe

Explain what gach part relates to in the water model: alon? Mo V”"g«

Current: Mo (\‘l’ of  elecirons -Cl OlAJy i’\Oe -

— {’\Mou(ﬂ’ ot Watec )Floudmov H\ Fnuc.}\ SDQ(,L‘!L

Voltage: p(‘@%ﬁu e "H/)e elects ﬂ ole (/mdfg -

—¥ {orce of Od"cx\/lﬁ-\/ Du\l:ﬂf} qu down

Resistance: 6\0[/‘] ! (\O\ ‘H/\(i ‘F\OU\) O—C € in o CilCu l+

—V¥ D‘amer of Hhe. Spout

7) Using Ohm’s Law, calculate how much current is created when 210V creates a
current through a 150 ohm resistor. AV

NN L= ﬁ

R=T T
AAE | _;E\F;o_ﬂ_ T-1.40

8) Topic 3- resistance. What type of filament in a lightbulb would offer the most

resistance? — -

a) short, thick wire [hin K—& \/\Jl’\ DA’ 'S }\CLVCIQ\"
long, thick wire -

@ong, thin wire fo T € Jo move

short, thin wire «]'k rou@]q ?
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source that has a voltage of 120 V. Calculate the current that flows though the
motor.

3 N 10
\i:: ‘,;'&O" T-0.45

9. An electric motor has a resistance of 185 Q. It is connected to a power

(12 marks)

Final Answer: O . 65 A

ectric appliance draws 1200 W of power. Electricity costs 9 cents per
% much does it cost to operate the appliance 4 hours a day for 50

hind = i} SowgS kwh 30T must find thet §irst.
P: \;2@\(\) converd

il 1=:2K\/\)\ 290k | WACM
£=Upys0d 200he > (12 marks)
3

O.09 X 240kwh J 02} &0
(PC’F Kwk) '

Final Answer:{ 21, bo

11. Alight bulb draw 1.5 A of current from a 110 V generator.
How much power does the generator produce?

D I=1.5p
— V= 110Ov
+ \/ P: ?a\/\) ( /2 marks)

| -Final Answer: ] é5 w
P ITxVv |
|- 5p X0V

e

P = 165w |
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12 Kelly recorded the input energy and output energy of four electric devices.
Device | InputEnergy(J) | OutputEnergy (J) | |
1 10 3 2 xlop =30y,
2 71 16 . Jﬁéf X100 E22.5 /
3 100 27 27 —27
4 950 510 o Xlop = /.

5l vico=53.7/
950 Xl

When listed in order from the most efficient device to the least efficient device,

the ﬁcr is . l 5
: %’ : . and L
I

Most Least
efficient efficient

e"CCCieﬂC\/ QU—H;QL—XICO/ (/2 marks)

H\Pu\

13. Draw, using proper symbols, a circuit containing a battery of 2 cells

connected
to a lamp and a motor in parallel. Add a switch to control the lamp only and a
voltmeter to measure the potential difference across the motor.

‘L_%/ baHer\/ ok X cels= 3V

every cell
'S 'e5v>
( /2 marks)

Must be ¥ laced with wires

on e\‘H’\C\' S\de O{:
the ‘OQA@
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14) Define the following terms, and say what do we use them for:

Variable resistor: O\ CONtC ol (\)OJ\/ ') Hhe
resistance.,

| ex) dimmer Switch.

Circuit Breaker: '6@?6"}\’! device H/\&Jr vl OP@Q
he  circui etal -to-Melal onta )
ond duen of T the eleciriedy.

Teo Mod\y Volts ol aMPS ?\owlif\g N

\peies a house o
PRV 15) Draw out the following circuits: Then tell which will have the t/
\ #@ —

r

and the &
H‘o‘f\\&) 1 battery, 4 lights in series b) 1 battery, 5 lights in parallel

Al H,.

4 celi

DEMMBS)(

B 6)/\'}66‘][

c) 1 battery, 3 lights in series

|

16) Alight bulb is only 4% efficient in producing light. If 800] of INPUT energy went
into producing light, what is the output energy the bulb is capable of?

& Toog xo-0H = (343 pulput




Electricity- Unit exam review

17) Describe each of the following types of power generation:
Coal-fired: Bmf ana £oss) fm’l% foc DOUJer,
— @Fﬁ({lmPS —P‘c%y c AEms »Fumesc,
Hydroetectric_US 10 Water cufents o Create
electriciy. b distubs Nodural hbder *
Nuclear: 60\ Hm/cx QC Com\oxmna Oteoms Envionmelt
{’e\PQS;no\ Mﬁjﬁ @p eﬁﬁro\\J\')f'Wﬁ‘ (&CJ\(‘JO(HL Ve
Solar: U@ fﬂa\)ﬁu(\s cn QFO\\I “]'CQD)/DFO({MCP
6[6,@?{‘.04\[“ ”?Cﬂnm% Colllec+ o d@ucl\/olays
Geothermali)ﬁ.na }\f’crk’n\ dHeam from deeD in
e eou'Jrlq to Drorh,ac;ﬁ ﬁ\eﬂrr\c.#\/

18) To calculate how efficient a device is, you calculate it like a test score. Take
what you get, and divide by what it was out of, multiplied by 100.

Ex) Output energy X 100 = efficiency of device in percentage

Input energy (remember all things lose
energy as heat.

Calculate the efficiency of the following devices:
Input=71] pre—tay Input=100]
Output=11] i Output= 34]
Computet is
34 y OO
MY yicoy 100 |

713
15.5°/
esficient

Frtf claﬂ S
4t/ cHierent







